ANBIEE R

FRMIRVCERAMNCEVT ERFFOREIEZE1TI C ETUANIIDBRKICZK 2 KEDFKEDM IO,
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() REHREE
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n:E*SI’ :

1,911,600 M

I = 4%

&4 (F)

I = # M

T = # E

ZRANIMEBIRIEISE

4,114, 800

H27.8.6~H28.1.29

IR L=21. 8m
(31IK) L=18. 1m
T —=
ENRGERERT
L=14. 8m
FYMIFIT L=3. 8m
(362TIX) L=3. 7m
AERFET L=3. 7m

I (BEIHEND)

@A) RN EFHE R VHRE

1,892,160

H27.8.7~H28.1.29

BIERE L=4. Om
T —=
TRy OERRERT
L=4. Om
A=17. 8m
ftr —=

EEANBRISETSE

3,747, 600

H27.8.12~H28.1.29

BIERE L=21. Om

T —=

TRy ERRERET
L=20. 7m
A=55. 1m

ffwIT —=

EEANEARINSRELSE

1,674, 000

H27.11.10~H28.2. 10

BIZER L=5. 5m
+r —=
EhXERERT

L=5. 5m
UBRIKERT L=1. 8m
T —=

EEANRRNISETISE

5,724,000

H27.12.3~H28. 3. 30

BIZER L=9. Om

T —=

JOyY I L=9. Om
A=59. 9m

T —=

3

E@EANARIIEE (F02) T

1,134, 000

H27.11.25~H28. 3. 10

BIZER L=6. 1m

T —=

JOyY I L=6. 1m
A=14. 2m

18, 286, 560




